
 [GeV]fitM
200 400 600 800

E
ve

nt
s 

/ 2
0 

G
eV

500

1000  Data
 t t

 Other Bkg
50× (550 GeV) t' t'

-1 = 7 TeV   L = 4.9 fbsCMS    

+jetsµ

 [GeV]TH
500 1000 1500

E
ve

nt
s 

/ 4
0 

G
eV

500

1000  Data
 t t

 Other Bkg
50× (550 GeV) t' t'

-1 = 7 TeV   L = 4.9 fbsCMS    

+jetsµ

 [GeV]fitM
200 400 600 800

E
ve

nt
s 

/ 2
0 

G
eV

200

400

600

800  Data
 t t

 Other Bkg
50× (550 GeV) t' t'

-1 = 7 TeV   L = 5.0 fbsCMS    

e+jets

 [GeV]TH
500 1000 1500

E
ve

nt
s 

/ 4
0 

G
eV

200

400

600
 Data

 t t
 Other Bkg

50× (550 GeV) t' t'

-1 = 7 TeV   L = 5.0 fbsCMS    

e+jets


	Contents
	Page 1


